Tabella 1. The field F¢.

ol additive minimum polynomial order in F7,
_ 0 X _
1 1 X +1 1
o ey X4+ X+1 15
a? a? X*+X+1 15
B a3 X4+ X34+ X24+X+1 5
at a+1 X4+ X+1 15
a® a? 4+« X24+X+1 3
ab ol + a? X4+ X3 4+X2+X+1 5
o7 o +a+1 X*4+ X341 15
a8 =a 7 a?+1 X4+ X +1 15
ad=a " ad + X4+ X34+ X24X+1 5
a1l =5 al4+a+1 X2+ X+1 3
all = g4 P+ a2+ a X4+ X341 15
al2 =3 aB+a?+a+1 X4+ X34+ X24+X+1 5
ald =aq2 ad+a?+1 X444 X341 15
alt = a1 ad+1 X4+ X341 15

Tabella 2. The field Far.

Bt additive minimum polinomial order in F}_
_ 0 X =
1 1 X -1 1
3 3 X3 X +1 2
382 B2 X34+ X24+X -1 13
33 B—1 X3 - X +1 26
34 2_3 X34X2-1 13
35 —B2+B8-1 X3 - X2+ X +1 26
36 B2+ B8+1 X34+ X24+X -1 13
g7 =—-p6 B2 —-B-1 X3+ X2 -X+1 26
B8 — _3—5 —B82 -1 X3-X?2-X-1 13
B = —p—4 B+1 X3 - X+1 26
810 — _g-3 B2+ 8 X3+ X2 -1 13
Bl = —p—2 B2+ B -1 X0+ X2 - X+1 26
B2 — _g-1 B2 -1 X34+ X2%2-1 13
813 — _1 -1 X +1 2
gl — _g -8 X3 -X-1 13
g5 — _g2 — B2 X3 —-X24+X+1 26
Bl6 — _g3 —B+1 X3 —-X -1 13
517:_54 —524—/3 X3 _-X241 26
B8 — _g5 B2 —B+1 X34+ X24+X -1 13
plo = g6 -B2-B-1 X? - X2+ X +1 26
520 — g—6 B2+ B+1 X3 -X?2-X-1 13
B2l = g—5 B2 +1 X3+ X2 -X+1 26
622:/8_4 _/3_1 X3—X—1 13
523 — g—3 828 X3 —-X2+4+1 26
524 — g2 B2 -B+1 X3 -X2-X-1 13
325 — g1 —B2+1 X3 - X241 26

NB. Since X3 — X + 1= (X — B)(X — 5%)(X — ), we have f'% = 8359 = —1.



